Ravenclaw – Beowulf Meets his Match – Session 3

1) Reread the speech that you were practicing at the end of session 2. Reminding yourself of the characters.
  
2) Read P37-43.

3a) P44: Why does Grendel cross his talons behind his back? 
              What does the picture show that he does not mention?
 
4) Main Q: How does this story link with other traditional ideas and stories? (Use the answers in Q3 to help you).

5) Read to the end of the story and make notes on your opinion of how the story is told and how it affects the way events are explained.



Ravenclaw – Beowulf Meets his Match – Session 4

1) With someone at home or with a friend on the phone or social media choose a section of the story where Grendel and his mother are talking. Create a role play showing how they would talk and behave.
  
2) Discuss with someone how you think this story would be different if it was told by Grendel instead of his mother.

3) Complete PCM. You have to rewrite the story from P37-40 as if it were Grendel telling the story (not his mother).

Follow Up
Write a new chapter for the story, telling what happened when Grendel and his mother arrive at Loch Ness.
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